SUPERSTAR 3-Digit Addition [Nome
WORKSHEETS Word Problems No Regrouping Date:

Use the template provided to write and solve each equation given within the word problem.

Tommy has |12 toy trains, and his sister gives him 35

more. How many toy trains does Tommy have now?

Dominic has 245 books, and he buys 22 more at the

bookstore. How many books does Dominic have in total?

Larson found 189 seashells and 200 rocks at the beach.

How man items did Larson find in total?

Tom brought 212 pencils to the school fair. Stephanie
brought 433 pens. How many writing utensils were
brought in total?

Shaun blew up 324 balloons for the concert. Patrick
bluw up 25 more balloons. How many balloons were
there in all?

Micah counted 12| chocolate chips in one bag, and 345 in
a second larger bag. How many chocolate chips were
there in both bags?

Images (c)



